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Periodic table and periodicity of the properties of elements

1. The atomic numbers of three elements A, B and C are Z+2, Z and Z+1
respectively .The element B belongs to the group 18 of periodic table. Identify the
correct statement about the elements from those given below.

a) lonisation energy of B is minimum, the chloride of A is an ionic compound

b) lonisation energy of B is minimum, the chloride of A is a covalent compound
c) C has the least electronegativity , A is strongly reducing
d) C has the greatest electronegativity , A is strongly reducing

The element B is a noble gas ( ‘inert’ gas ) so the element A with an atomic number
Z+2 is an alkaline earth metal belonging to Group 2 of the periodic table. The
element C Is a halogen belonging to Group 17 of the periodic table.Therefore the
element C is the most electronegative one and the element A is strongly reducing.
Hence option (d) is correct.

2. Arrange the following elements in order of increasing first ionisation energy and
explain : lithium, potassium, sodium, rubidium.

In the group of the alkali metals , the magnitude of first ionisation energy decreases
down the group because the influence of nuclear charge on the outer electrons of
the atoms decreases in that order. So the order of increasing first ionisation energy
will be rubidium < potassium < sodium < lithium .

3. Arrange the Group 2 elements ( Be , Ca, Mg, Ba, Sr) according to increasing
atomic radius and explain.

In the group of the alkaline earth metals , the magnitude of atomic radius increases
down the group because the influence of nuclear charge on the outer electrons of
the atoms decreases in that order. So the order of increasing atomic radius will be
Be<Mg<Ca<Sr<Ba.

4. Arrange the halogen elements according to increasing electronegativity and
explain.

In the group of the halogen elements, the influence of nuclear charge on the outer
electrons of the atoms decreases down the group. Therefore , atomic radius of the
elements increases and their electronegativity decreases down the group . So the

order of electronegativityis| <Br < Cl <F.



